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Ts12Mm Tonkasl Distriot Rt ] 1)
Common Firat Mid Term Test - 2024
ltlndlrd 12
Time: 1,30 Nours MATHEMATICS Marks: 45
PART - A
L Choose the correct answer: 10x1=10
1) IFATA ! is symmetric then A” :
a) Al b) (A")2 c) AT d) (A1)
- Al B'[! ] then |adj (AB)| =
ST R R (T R PR |
a) - 40 b) -80 c) -60 d) -20
3) IfAis a3 x 3 non-singular matrix such that AAT = ATA & B = A™ AT then
BB = .
a) A b) B o)1, d)BT -
4) Product of all four values of 7/ +isin E/)% is
) (cos 3 +isin7/;
a)-2 b) -1 ° ol d) 2
] B “a J
5) Me—e EMWQM&:W then | is i
: . -‘*’511!5..,,;.' L 4 o .
Y Rp) 1 c) 2 d) 3
B) i+ il 4+ (M2 40+ s
~ L B 1 ) -1 d)i *
7) If z = x + i y is a complex number such that |z + 2| = |z -2]| then the locus
ofzis . ;
a) real axis b) imaginary axis  c) ellipse d)circle

. : :
'8) The number of positive zeros of the 'polynomial ; E.n nC.(-1) x"is

T a) b) Do LAY dr
4 ‘The mnba'ofmal numbers in [0, 2x] satisfylng Sin%x - 2Sin?x + 1is
a)2 \ b4 Coi% A d) o :
10) According to the rational root theorem which number is notmossable rational
zero of 4x7 + :I.Ox’ 5 .
Ca)-1 A oY

PART - B
4x2=8

IL. Answer any 4 questions: Q.No. 15 is compulsory.
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ke $ 13) If w « | is @ cube root of unity. S.T (1 - @+ )" + (1 + @~ o) = 128
.~ 14) S.T the polynomial 9x%+2x"-x*-7x*+2 has atleast six imaginary roots.
el 15) IfAis a non-Singular matrix of odd order P.T |adj A| is positive

| PART - C
w any 4 questions: Q-Nﬂ-ﬂollmmpullorv. 4x3=12
0 R : el e
A=|6 2 =6 find A-1 |
16) If adj N A . —

- 5 . '¢"--"§‘h .
i iointly in 3 days while 2
17) Four men & four women can finish a piece of work __mintly in 3
) men & 5 women can finish the same work jointly in 4 days. Find the time
taken by one man alone & that of one woman alone to ﬂn‘isgé same v:rork
by using matrix inversion method. ! L .

-

18) If |z| = 2 S.T 3 < |z + 3+ 4i|<7 4

19) If z:+; - l—+2£ find the ;:qmpléx nuﬁ'lbﬁr z in the mdﬁngt?iar form
. z S oy * x

20) If:a, B,y are roots of the eqﬁatﬁu x3 + px? + qx+r =0 find the ‘va‘llue of =T

Zl—;.; interms of the coefficients.

- e %ﬂi« 2
; - s : ;_4 .'-:_;-iﬁ-",
| I ._ b, ,ﬁ.-t‘ Ofllrﬂarmmm Rdﬂ

i) an Inﬁnite number of solution

i

y2+x-2y=0
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